he
3
=
pd
4

| 2
\\\

SRAYE N0 ERY - ¥ - B3 ~ 28 P34

FT % B EeaRa

CEBRRCFERGT 0P R (LA 5 8

L. ( ) S /1 =65 % A28 /1l ek > /3 F Ll aud ko P L2443 =
(A) 140° (B) 180°  (C)500° (D) 90°
2. () - MEEL 9N BR UGS AE S M T AR A BB Tl o A4 E R S L
x%ﬁa%‘i*?ﬁ,ﬂb P e A FEH Bl r B B S P?
(A)4 (B)5 (C)9 (D)18
3.( )4 (M 1)>0C i LAOB » % LAOD =70° » ZBOD = 50° » p| ZCOD =?
(A)20 (B)15 (C)10 (D)5
4 () (M 2) P OAIERGAR ) R T it e R Y
(A)PD=QD (B)BP=BQ (C)BD % AC »* #% (D) BD 35 =~ PQ
5. ( JA4c (B 3) > Z e M-8 F L1+ /42=130°> L3+ /44=90°> B| L3+ 45=7
(A) 90°  (B) 100°  (C) 130° (D) 140°

A CD pd

AP QC 54
@) B XD
B 1
(®1) () 2) (% 3)
6. (  )4o (M 4)> £e 40 LODF = L/CFD=80°+ Bl ZA+ /B + /C =2
(A) 360°  (B)180°  (C)100° (D) 80°
7. ( ) K% 6AE 0 B (B 4) 52 FHREVOFIZ AR Y ZRIMA YT L OFHE 0 BIRANE BENFEO
#wv e A—-D—-C—-F B> Ew3 g, pligfd il 7287

A) 520°  (B)440°  (C)360° (D) 260°

8. ( ) he (B 5) 0 Blen? wi- 3287 REFL WD 2 f2enE #- 17 83,0 49 LBAC 527 B
7R Bk k> Pl LZBAC =7

(A) 144°  (B) 132°  (C)36° (D) 24°
9. ( ) 4e (Bl 6) > ® L1+ L2+ L3+ L4+ L5+ L6+ LT+ £8+ L9+ £10
(A) 900°  (B) 1080°  (C) 1260° (D) 1440°

1

A
6
7 10
E D 8 9
(Y (B 6)



10. (

11. (

12. (

13.

) AABC ¢ LA = (62 +10)° » LB = (40 — 2)° » LC = (4z — 5)° » 1 AABC % P fb= 4759

(A) 44 = 27

(B) 44 & = &7

(C) 3 &= &

(D) 3%z 47

) e s ADABO 2 ADEF» 3¢ A-B~C ad¥tp®* A 2 D~E~F+% BC=51—6°AC =6a—3"

DE=12>DF =15 fa=9
5 21

(A) 3 (B) 5 (C) 5 (D) 2

) 4o (B 7) 0 10T v e gzt f ik P AACD 2 AABE

(A) ZADC = ZAEB ~ AC = AB
(C) ZADC = ZAEB =90° ~ AC = AB ~ AD = AE

(B) ZADC = ZAEB ~ AD = AE

(D) LADC = /AEB ~ /C = /B

) 4 (R 8)» ABCD 522, AAEF 5 = 25> p| AABE .3 » % AADF % ?

(A) € 1345 RHS 2 £ +F
(C) &> 133 ASA > % B

(B) &> 1345 SSA 2 £ 7
(D) & » 2 2|47 93 > &

14. ( ) 4o (B 9) > &£ =35 ABCD # Dol Gn A AR AC M @ DEith E ol VAT # BO dg e+ F 5
’I:LA14C'F":l ’%AACFZQOO,E]IJ /BAF ;‘;}i}ir?

(A) 20°  (B)40°  (C)50° (D) 60°

A A D A D

n

B g C E

(1 8)

(A) 10 (B)11 (C)13 (D) 14

NABC 5% # 5 54 7
(C)84 (D) 96
17. ( )4c (B 12) 0 2 & AABC ¥ » /B=90°+ AE £ % /BAC ® 2 BC* E 8% BE=4~AC=15"

(A)30 (B)38 (C)60 (D) 76
A A A
D
E . ]
B C B
L B D C E
(B 10) (B 11) (W 12)



18. ( ) 4o (B 13)» AABC ¥ » 12 B 2l » BA 525492 BCO* D gk &F#% AD 4= % » @ 5+ AB = AC »
ZC =40°> p| LADC =72
(A) 100°  (B)110°  (C) 140° (D) 150°

19. ( ) 4c (B 14) » AABC # » AB=AC=12>DA=DB> * CD=2> R AADB % # ?
(A)24 (B)36 (C)40 (D) 48

A

(B 14)

20. ( ) AABC ¥ » BA=BC > /B i T a2 AC % D B PI7 74t 7% § 359
(A) ZA e s meds T4 BC  (B)BD 5 AC e¢ &8  (C)LA=/ZC (D) D g i AC ¥ B
21. ( ) TG M REZ AM kil P K T 7
(A) m B ffipEanz 4502 28243 B)dB2ENZ L0 LR
(C) #aB=42,7 15 B2 - BELEHRPE P B= 42728 (D) 2} gt & &
22. ( ) e dr— n A vtk Bl ] PIARFIRESELHE] o FE Bt & L 14° R4 ehrh & 5 1300
Pln &_%5°°
A)11 (B)9 ()7 (D)5

PLEAL G EP AV EEAENERRL (B A £ 124)

I 4T w§3) ABCD RE 7, P~Q A A u % AB~BC &1 8> 4 £ PQ % DO % R @+ ¢ & AB =4 -
AD =8 3w % 11T B AR
(1) ABPQ ¢ ACRQ 23 > % 2
(2) = #45 APRD tha #8 5 5> ?

D

A
P
B

2. Pl R RICHMLEAY - AR AP < AU AT



A 22 SRAYP R N0FERS - B S - 8L 8 & sk Ff

FL% T B S A
CERM FERGE O (FAAA £ 88
?%‘%‘Jga%? FRS

SR MR AP ISR E AL (FR6 A H 124).

(1). & ABPQ # ACRQ ¥

- ABPQ~ACRQ (- > %)

(2).




